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Question Number : 1 Question Id : 51714411568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A classroom consists of students from diverse cultural backgrounds. How should
a teacher address cultural differences to create an inclusive learning environment?
Select all that apply.
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Options :

Ignore cultural differences to maintain uniformity
| x BEEHSEDH o) FodE Do DETED

Incorporate culturally relevant examples and materials.
%ﬂ@‘%@é D020y GTEETESnen, Hien SrothHdad.

Design assessments that favor a specific cultural group.
(e85 &D@Eﬁé DE0resPEnd Shboshen Brtend JeHd.

Assign group projects exclusively within the same cultural group.
®0 DSrTEnd?, DY éﬁé%ﬂéj Big0.

Question Number : 2 Question Id : 51714411569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



You have a student who consistently struggles with written assignments but excels
in verbal discussions. How can you support this student's learning needs? Select
the best options.
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Options :

Provide only written assignments to improve their skills.
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Allow them to demonstrate understanding through verbal presentations.
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Discourage verbal participation to encourage writing practice.

) Sirgrdonr S tot) DHENTHo (@8 aldnd @i&)eromd.
3.

Assign extra written assignments to enhance their skills.
©80 SEogi) H TDEDHOD 685 (378 © S0y cndirEd

Question Number : 3 Question Id : 51714411570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary advantage of online teaching methods?
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Options :

Reduced flexibility in learning schedules.
AL STV 316‘112‘3@6’5 SHODD

1. %



Limited access to resources beyond the classroom.
558 K6 IendHe HEHeH HBHS (HIFH0

Increased accessibility for remote learners.
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Decreased need for active student engagement.
BohEBE DB st SAN ©B380
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Question Number : 4 Question Id : 51714411571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

You're a college student interested in learning new skills beyond your curriculum.
Which platform would be most suitable for you to access a wide range of courses?
wag a8 Beedro Jugd aig0aR8 Jende 58 ol edfbodtomh.
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Options :

Traditional Classroom teaching
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Traditional textbooks
Sro(RmrahE arogod spRseen

Question Number : 5 Question Id : 51714411572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main principle behind a choice-based education system?
o8 esgrde Doy S’ché'% a’maﬁ%ééo

Options :

A single standardized curriculum for all students
0ol ghetd &8 (@FTrg08Em

Limited options for students to choose from
Dogten JodHE THE0DH H6HBE" KreS od)Een

Allowing students to select courses based on their interests and goals
3 ©d8, ogro HBod Dugiet: 5o dodE THEe

Assigning subjects randomly to students
S]maﬁf_‘gﬂéj SirghRyEorr ANATe Ser000He

Question Number : 6 Question Id : 51714411573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



"Objective” in research means:
"508%5%5 " &8 ma’ggﬁvéaﬁm &R

Options :

Researchers can include personal biases in their findings.
58505 %en @b oty &S el DEarsren 56&5’3&3&
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Research findings are based solely on intuition.
H8805%e6b Kori3D Swggore @0&5&;3&@ eseB it Erom.

Research aims to uncover facts without being influenced by personal feelings
or opinions.
568855 oFgen, 818 graen, wdarairos® Hrdbo sthHom BRSO
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Researchers are free to manipulate data to support their beliefs.
& H88%5Hen a8 Sdysronibibeaonr oreanodel)) BB D ).

Question Number : 7 Question Id : 51714411574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the post-positivist approach emphasize in terms of research
methodology?
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Options:

Avoiding any form of data collection
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Using only qualitative research methods
riaca'uééé 568555 aﬁge‘_ﬁmﬁ Sa@rAohi

Incorporating multiple methods and perspectives to enhance understanding
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Strictly adhering to predetermined hypotheses without adaptation
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Question Number : 8 Question Id : 51714411575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What should the introduction of an academic article or thesis accomplish?
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Options :

Present all the research findings in detail
@) HOEED BHreH HHBore IaD.

Provide background information and context for the study
7 ¢ BEEOHTVE JDgEw, DosGdn Board.

Include personal opinions and biases
5818 graren, HFararen Sendaced.

Include a summary of the entire article or thesis
o a5, AR @BwE) Holrisro sowd



Question Number : 9 Question Id : 51714411576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The purpose of the "Introduction” section in a research article is to:
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Options:

Present the results and findings of the study
eigdhdy Hherein, Ehith) 80 wd

Provide an overview of the research methods and procedures
58800 ﬁtgé)eu, [18ahe étwéééﬁ Eoonairg®

Discuss potential limitations of the study
eggohNg Dogry H8hde S8oord

Introduce the research topic, its significance, and research objectives
4 58857 wodo, [Ersnggs, ool egxen doard.

Question Number : 10 Question Id : 51714411577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What does the term "research methodology" refer to?
HB8%5% ;’}g@ 0P



Options :

The analysis of research results
588> Do DA

The type of paper used for writing research reports
568° e BEEHeD @rohne eH@rAoD sehSE BN

The overall approach and techniques used in the research
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The process of data collection
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Sub-Section Number : 2
Sub-Section Id : 517144473
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411578 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
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It was early morning, and the rays of the rising sun had scarcely yet caught the roofs of
the city of Perugia, when along the winding road which led across the plain a man and a
boy walked with steady, purpose like steps towards the town which crowned the hill in
front.

The man was poorly dressed in the common rough clothes of an Umbrian peasant. Hard
work and poverty had bent his shoulders and drawn stern lines upon his face, but there
was a dignity about him which marked him as something above the common working
man.

The little boy who trotted barefoot along by the side of his father had a sweet, serious
little face, but he looked tired and hungry, and scarcely fit for such a long rough walk.
They had started from their home at Castello delle Pieve very early that morning, and the
piece of black bread which had served them for breakfast had been but small. Away in
front stretched that long, white, never-ending road; and the little dusty feet that pattered
so bravely along had to take hurried runs now and again to keep up with the long strides
of the man, while the wistful eyes, which were fixed on that distant town, seemed to
wonder if they would really ever reach their journey end.
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Sub questions

Question Number : 11 Question Id : 51714411579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

One early morning, two people walked towards the town with a
pace.
8.8 Sgarderind alth S D80 JY b,

Options :

faltering
. Stather

slow
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hesitant
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Question Number : 12 Question Id : 51714411580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The older man in rough clothes had a demeanour about him.
et Ged &) Solb DRG0 EOA G

Options:
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decent
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aggressive
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offensive
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Question Number : 13 Question Id : 51714411581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The older man was a by occupation.
©&H S g 900 BOLTL.

Options :

farmer
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Question Number : 14 Question Id : 51714411582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘wistful eyes’ means
ReEhd BEy' o3 Hood8 ©8o

Options :

thoughtless
&S558

thoughtful
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disappointed
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Question Number : 15 Question Id : 51714411583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The phrase- ‘the town which crowned the hill in front’ means, the town looks like a

* Swoth Botid é&gé)ﬁléo 5 KJ%R‘;D" ®08, étﬁgmo

Elarnob) ed.
Options :

piece of jewel

esgf M0
1.4

mirage
9 % oo

unreachable

. S08°B08

distant
 rer Grtodt &y ood
8 [=8

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

He
3
517144474
Yes
null

Question Number : 16 Question Id : 51714411584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being during communication with others can build a sense of

trust and respect.
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Options :

genuine
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Question Number : 17 Question Id : 51714411585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

communication is the excess meanings of utterances or
messages received by students without the teacher's awareness.
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procedural
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Question Number : 18 Question Id : 51714411586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one

other cultures.
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Question Number : 19 Question Id

: 51714411587 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

barriers are the most obvious barriers in communication that
can be easily resolved.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0



Music , television, and films are the forms of media that play an
important role in shaping cultural norms and values.
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Question Number : 21 Question Id : 51714411589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 51714411590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
LMZ, NYO, XPQ, RSW, ____
Options :
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Question Number : 23 Question Id : 51714411591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word CABINET =70 and BEAUTY = 60 then
PRODUCTION =

Q0 §6 27165’ CABINET = 70 <08050 BEAUTY = 60 )¢50 &900S
PRODUCTION =

Options :

90

1. %

100

3 % 110

120

Question Number : 24 Question Id : 51714411592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Shashi and Sudha enter into a partnership with equal investments. is the
share of Shashi in the annual profit of Rs. 44,000.
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Options :
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21,000

19,000

Question Number : 25 Question Id : 51714411593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A profit of 12% is made by selling an article for Rs. 50.40. The cost price of the
article is
2,5 030 ed)ed) .50.408 €9002¢80 T 5T° 12% €7Z50 ICN0D). €3 oIcNo))
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Options :
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Question Number : 26 Question Id : 51714411594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Statements:
Some true are not false.
Some false are not real

o8 edaden:
§R) aen R0 5.
50 022N PO 5%
Conclusions
l. Some real are frue.
Il. Some real are definitely false.
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Options:
1 % | follow
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Both | & Il follows.

MNeither | nor |l follows
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Question Number : 27 Question Id : 51714411595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



In a class, 72 students drink only tea, 50% of the students drink coffee, 25% of
the students drink both tea and coffee and 5% of the students drink neither tea
nor coffee. What is the total strength of the class?
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Options :

160
1.¢
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Question Number : 28 Question Id : 51714411596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

How is my mother’s sister's only sibling’s father related to me?

S° €965 TBEO IBE E20EWY S0(3E T°E D000 DEI?
Options :

Father

5, % 4ncle



Father-in-law

Grandfather
4. ¥

Question Number : 29 Question Id : 51714411597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a necessary step when you present an argument
based on inference before the others according to the Classical Indian School of
Logic?
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Options :

1. % Nigamana
5 Upamana

3 % Upanaya

Udaharana

Question Number : 30 Question Id : 51714411598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Which one of the following expresses Vyapti (relation of invariable
concomitance?

1BoATE3S DA 30 95800 0E (DB0SS DT PS0 TS
Q0D00).

Options :

The relation of invariable concomitance between mountain and fire
DG 8, ey 8 o065 : DBAOHNTA HODOLSN

The relation of invariable concomitance between mountain and smoke
D6 5e8, 8B S08E DEDOHTA) HoDOEO

The relation of invariable concomitance between fire and smoke
eof) §, &Fii50 DG Gad) DoD00

The relation of invariable concomitance between perceiver and the smoke
HIar 0T AE, P18 2068 0T H00L 2r0CTEeD
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Question Numbers : (31 to 35)

Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

HeE: 180 20BN DTG0 eS0T Q. 31 oG Q. 35 (H4) ©O%0
ASrGore) (SPAD0E.

A company has six branches numbered I, I, I, IV, VV and VI located in six different
places. Each branch utilises the telephone services of six different providers A, B,
C. D, E and F. The number of telephone calls made on 28th September 2008,
between 10.00am to 11.00 am between any two different branches were recorded
and are as given in the graphs below. It was also observed that from each branch
there were at least two outgoing calls through each service provider to every other
branch and there were at |east two incoming calls through each service provider
from every other branch.

Calls made through a service provider at any branch can be received through the
same service provider at any other branch.

28 500D et 3855 (BT 1, 11, I, IV, V SHBG50 VI Soa38 530S
e TDEOD DN GO, |Hed 20T A, B, C, D, E 0005 F @& esth 30 550
1Erac6e BOFS VIO GHATFA0THH0EN0D. 28 Drond 20208
&C5A0 10.00 0 11.00 JOLE DA DB® BOR BV LG TP A8
T VOFS T Hopg 850 TOHDE0H HOAW 9 OMS roeeS
2D IN DO GOEFOW. D8 (2700 0BG D8 @3S iy 2.8 3050
IS8 00 EAN0 Bod es9¢3Fanofl *Sen &or) ahd SHBO5L (Hed
2653 TP DO 2,5 D050 1SR Tr o0 Q00 Dok BOEWOR seSew
&) 00 S faodDGB00.

D oSS T 05D BTS30 o0 TS FHON @8 HO5D 136
TP L0° S0 QBE PR T 50050,

Number of Gutgoing calls
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Six Locations

Axis Title
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Number of incoming calls
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o
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Sub questions
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What is the maximum number of incoming calls from any single branch received
by any other branch through any single service provider

2 2.8) (2708 DO ONT® o) 8] D05 (B0 T°50° o ASS TP

SN (162 oS ASENON TS ) Do
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

1. 41

43

45

92
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What is the maximum number of calls made from branch lll to branch V
1200 11l DOA (27701 V8 TS 5O (1) DOWE 2)Oh ?

Options :

127

, % 141

3 % 131

104

Question Number : 33 Question Id : 51714411602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What is the maximum number of calls made through service provider B, from any
one branch to any other branch

D050 (B B0 B 500, B 2.8 (27075 D0 HT 2edE (270158 Td
OO (0s) ODF DO ?

Options :

127

1. %

5 @ 29

36



4 % 18
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If branch VI has received the least number of calls from branches | and |l, then
what is the maximum number of calls received by it from the other given
branches

RPOW VI cDOG (200ew | B0 I 50 e9ed 550)a) SO
2 5500DILONB, BB 20T HOA T8 @0NES) 105 T
QO )OH?

Options :

158

1. %

, % 162
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What is the minimum number of calls made from branch1 through service
provider C to branches Il lll or VI

D05 1FB86 € 50 127051 0B I, Il Bee VI 20005 TR O
SO DOPE OeS

Options :

1.+ 8

10

3 % 12

14
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The process of transferring files from Internet to user computer is called ........
B0600)) $0b SR Boxyhtth pED E8Dohe

Options:

Uploading
o5&&oih



Downloading

5% 0t
2.9

Terminating

Eﬁéﬂﬁoﬁj
3. ®

Mone of the above

. w 23 =08
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Which protocol is commonly used for sending email messages?

3 onen YO rgrdsore e3@rAod [Eretsed 2

Options:

SMTP
1.9

, % HTTP

5 % TCP

FTP
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Digital Initiatives that focuses on the development of open-source software?
L5 R¥G) 536 ©dHBS® G0 Bsbd FEHen?

Options :

e-PG Pathasala
5-58 oo

NPTEL

FOSSEE

None of the above
230 =2
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Information and Communication Technology includes..............
SErerd HHBan o FosdssS” Sob o,

Options :



Online learning
o O8O eTgio

Web Based Learning
3D eprds egrgien

Learning through the use of EDUSAT
QDD TR egEgRien

All of the abhove

Falahny
4. BTG
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RAM is placed on .......
i 80D sohaeh

Options :

Hard Disk

1. %

, x USB

3 Mother board



Extension board
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How many Goals are there in the Sustainable Development Goals?

e @é)&é-ej% @g&@eﬁﬁ o)d)) OFPgen Gow ?

Options :

27

1. %

5 o 17

27

4 u 37
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Name the day that is celebrated as the World Environment Day
(5908 rardter B55N IHED aHHE &P
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June 51

= o

June 6t
pam5 6

June 8t
pamy 8

June 101

4 % a5 10
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Which of the following methods can be used to increase the supply of usable,
good quality water?
& BIHS 8 O ﬁﬁé&* oxoe PSS 03 ﬁjcananéé HB S50

outesm?

Options :

Chlorination
835

Cloud seeding

&
5 26 w&otd



Metallurgy
53%::-@@

Filterisation

o x DEBESD
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How many distinct types of actions are defined as part of Disaster
Management?

D)) DBETes griione &) DY) Ssee Stgen K‘ltﬂéﬁjozﬁe&m&uon.

Options :
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To which Government the Ministry of Environment and Forests is the nodal
agency?
o) (gha=R8 araeiies, ©8) &I}E’J@w:{ SES El}aac"ihﬁﬂ SgarB:n00

Options :

To the State Government
| x TRIESL0E08

To the Central Government
Elelln] EIAVE RS

To United Nations
SnIBE I8y

To Union Territories
e Ohrdahih 86665
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Which among the following is the ancient university?
% 1806 7=8° D& FrdS D& Tgechan

Options :

Lalitgiri



5> Malanda

Ratnagiri

Udayagiri
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Ministry of Human Resources Development (MHRD) renamed as....
2R Hdhe &ﬁ@@ Hoo|B&K Ty S°BD 2

Options:

Ministry of Human Development
éﬁéméjéej% S00o(BEy Iy

Ministry of Higher Education

- &8 Doy HoBE] TP

Ministry of Education
oy o|BEy Y

Ministry of Human Capital
85589 shrredid sho(BE T



Question Number : 48 Question Id : 51714411617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following learning programmes focuses on the study of ancient
Indian scriptures and spiritual practices?

& BN ) g seSEiam, B g8 (Kogren, opgSE eddnon

cﬁe‘ﬁﬁad@&m
Options :

Yoga
e

Architecture
P 3eBE

Pharmacy
apeeD

Commerce
aﬂs%aéa’m
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ElA is stands......
EIA e&Hme



Options :

Environmental Interest Assessment

1. %

Environmental Impact Assessment
2. ¢

Environmental Interaction Assessmen
L Environmental Impact Analysis
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Distance education is not
653063}:‘.55 5906

Options :

Telemetric teaching
|« DODBE B

Distance study

5 % &r8 egigohdo

Work oriented education

3 ¢ Q) esgrdE Dy



De-schooling

& - &pPothd

4. %
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Isostacy maintains a balance between

and




Options :

Coriolis Force and Gravitational Force

1.%
buoyancy and gravitational forces.
2. %
Convergence and Divergence
3. %
Thermal Expansion and Contraction
4. %
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Match the following

A Tundra 1 found in salty areas
B Mediterranean forests

| ]

semi-arid  to  senu-humid  with  winter
rainfall

C Mangroves 3 found m subarctic. humid conditions
D Taiga 4 found near fresh or brackish water
5 found i arctic regions
Options :

| %« A-3 B-2C-5D-

| ]

L

> % A-3 B-4C-2D-



3 =8 Bed BT B—3

4 % K= B=1 =4 B3
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In the diagram shown below A & B represent

2.0+
1.87
1.6
1.249
1.2+
1.0
0.84
0.6+
0.4

0.24

Prassune (GPal

W 200 a0 4 500 00
Temperature (°C)

Options :

A represents glaucophane schist facies & B represents eclogite facies

1.

- A represents glancophane schist facies & B represents green schist facies
A represents green schist facies & B represents eclogite facies

3 %

A represents green schist facies & B represents granulite facies
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Syneresis cracks are:
Options :

A form of desiccation crack

1. %
A type of trace fossil
2. % v
Subaqueous shrinkage cracks
3. %
A type of peneconte mporaneous deformation feature
4. %
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___ magmas are originated by lithospheric upwelling and decompression melting
due to lithosphere extension



Options :

Mid-oceanic ridges (MORs)

1. %

Oceanic 1slands
2. %

Island arcs
3. %

All the above
4. %
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Consider the following statements:

Statement I: the vanation of the Earth's magnetic field 15 stronger during the day
than that during the night

Statement IT: Magnetic materials become less magnetic on heating

Options :

Statements I and IT are true: IT explains I

Statements I and II are true: but II does not explain I



Statement I and II are false

Statement I 1s false: IT 1s true
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Magnetic anomaly strips occur symmetrically on either side of the Mid-Atlantic Ridge.
Similar anomaly patterns are difficult to detect in Precambrian terrains because

Options :

1. %  Oceans did not exist in the Precambrian

> Precambrian oceanic crust was subducted and consumed

3 %  Precambrian oceanic crust was less dense

Mid ocean ridges did not exist in the Precambrian
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S waves move faster through gabbro than granodiorite because
Options:

Gabbro 1s denser than granodiorite but has much higher shear modulus

Granodiorite 1s denser than gabbro but has much higher shear modulus

2. *
Granodiorite is lighter than gabbro but has higher shear modulus

3. %
Granodiorite and gabbro have similar densities. but gabbro has higher shear
modulus

4. %
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A 1s a gravity station at 45°N latitude and B 1s another station 20 km north of A. The
measured gravity value at B 1s 16.2 mgal larger than that at A. Then the elevation at B 15

Options:

Same as that at A

80 m higher than that at A



40 m lower than that at A

80 m lower than that at A
4, %
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The following figure shows the SP anomaly profile across an E-W extending sheet like
conducting body. Which of the following options can best explain the anomaly?

Options :

Lead - zinc ore body steeply dipping due north

Graphite ore body steeply dipping due south

Copper rich ore body steeply dipping due south



Nickel rich ore body steeply dipping due north
4, &
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A turbidite deposit contains the following.
A} Masstve bed
B)  Lower parallel lammation
C)  Upper parallel lamination
D)  Structure-less mud
E)  Rupple cross lamination
Which of the following represents the correct bottom to top sequence?

Options:

A-D-B-C-E

1. #

B A= Bl
2. #®

A=C=FE=B-D
3.v

D-C-E-B-A
4, %

Question Number : 62 Question Id : 51714411631 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match List-I with List —IT and select the correct answer using the codes given below the
lists

List-I List-IT
A Bajada P Acolian
B Dreikanter Q Desert
C Kam R Glacial
D Dohnes S Karst
Options :
A-SB-Q.C-R.D-P
’|. E
A-Q.B-P.C-R.D-S
2. %
A-Q.B-S.C-P.D-R
3.
A-Q.B-S.C-R.D-P
4. %
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The Young's modulus of a rock specimen of density 2.7 gm/cc 15 9.72 megabars. The
longitudinal wave velocity (in km/s) in the rock is

Options :

4.8
1. %

5.2
2. %

6.0
3. ¢
%
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The following is a list of important events 1n organic evolution

A, First appearance of mammals

B. First appearance of fishes

o First appearance of birds

B First appearance of flowering plants

Which one of the following is correct in ascending stratigraphic order?
Options :

i¢ B—»A—»C —»D



>« A—*B—*C —*D

»D—>(C —» A

4% D—FB—FA—PC
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A seismic survey is carried out over a region comprising of a sequence of alternating
horizontal layers of shale and sandstone, each having a thickness of 0.5 km with the
shale layer at the top of the sequence. The P wave velocities mn shale and sandstone
are 2 km/sec and 4 kmy/sec respectively. The stacking velocity for a reflection from
the base of the 5™ layer from the top 1s

Options :
0.64 km'h
1.64 km'h
2. ®
2.64 km'h
3. %
3.64 km'h
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In a mineralized zone, dip angle measurements were carried out along three E-W
profiles at 100 m spacing at three frequencies fl, f2. 3 (f1>f2>f3). The profile
length 1s 500 m. Zero cross over was observed for all the three profiles and for all the
three frequencies at the same location.

Statement I: Conductor extends at least up to the depth corresponding to frequency 3.
Statement II: Minimum strike length 1s 200m and strike onentation 1s N - 8.

Which of the followng is correct?

Options:

Statement I 1s true but statement IT 1s false

1. %
. Statement I 15 false but statement II 1s true
2.
Both statements I and II are true
3. %
Both statements I and IT are false
4, %
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Gravity anomalies of value 0.1 mgal and 0.2 mgal are located at points separated by 300
m and 200 m respectively along a profile across an anomalous body resembling a
horizontal circular cylinder. The depth (in m) to the centre of the eylinder 1s

Options :

50
1.4

100
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What 1s the value of the Earth’s magnetic field (in Oc) at a place where its vertical and
horizontal components are equal if the magnetic field at the equator 15 0.30 Oe?

Options :

0.38
1.4

0.40



0.42

0.44
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A density log provides a continuous record of a formation’s reaction to medium energy
focussed

Options :

Fast neutrons

1. =

Gamma Rays
2.

Sound waves
3 %

electric current
4, =
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Which of the following statements 1s correct?

(i) Seismic reflection method depends on acoustic impedance contrast
(ii) Gravity method 1s sensitive to lateral density variations

(iii) Magnetic method 1s sensitive to susceptibility contrast

(iv) Electrical method depends on electrical resistivity variations

Options :

Only (i) 1s correct

1.
Only (ii) and (7ii) are correct
2. %
3 % Only (iv) 1s correct
44 (1), (i7). (iii) and (iv) are correct
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Assertion: A Electric potential of earth is taken as zero
Eeason: R No electnie field exits on earth surface.

Options :



Both Assertion and Reason are correct and Reason 1s the correct explanation for
Assertion

Both Assertion and Reason are correct and Reason 1s the correct explanation for
Assertion

Assertion 15 correct but Reason 1s incorrect
3. %

Both Assertion and Reason are incorrect
4. %
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went extinet during the K-T extinction

Options :

| % Brachiopods
5 % Graptolites

Ammonites
3.¢



Trilobites
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Match the following:

I

(1) Cumulus texture
(2) Exsolution texture

(3) Caries texture
(4) Cockade texture
Codes:

Options :

1-1v, 2-111, 3-11,
1.9

111, 2-1v, 3-11,

2. %

I-11, 2-11, 341
3. %

1-ni, 2498, 34
4. %

II

(i) Banding and crustification in open space
(1) Protuberances of replacing minerals with

replaced host

(iii) Spindles or lamellae of one mineral in

another

(iv) Agegregates of minerals with non-

441

4-1v

41w
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Global scale events at ~1.8 Ga and 0.9 Ga refer to:
Options :

Amalgamation of supercontinents Columbia and Rodinia

Amalgamation of supercontinent Columbia and fragmentation of Rodinia

2. %

Fragmentation of supercontinents Columbia and Rodinia
3. %

Fragmentation of supercontinent Columbia and amalgamation of Rodinia
4, %
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Given below are two statements Assertion (A) and Reason (R). Read the statements are

tully and choose the correct codes from those given below :

(A) Raised shorelines are common along the continental and 1sland coasts of Pacific
Ocean.

(R) In these regions tectonic processes are active along the mountain and 1sland ares.

Codes :

Options :



Both (A) and (R) are true and (R) is the correct explanation of (A)

1.4

5 % Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
% (A) 1s true but (R) 1s false

4. % (A) 1s false but (R) 1s true
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Assertion (A) : AFM diagram is useful for the study of pelitic rocks.
Reason (R): Pelitic rocks are rich in plagioclase Feldspar and Quartz.

Options :

Both A and R are true and R 1s correct explanation

1. %

Both A and R are true but. R 1s not correct explanation
2. %

A 1s true but R 1s false
3.¢



A 1s false but R is true
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To distinguish between different rock types, a sensor with high resolution 1s best
Options :

Spatial and temporal

1. %
Spatial and radiometric
2. %
3 Spectral and temporal
Spectral and radiometric
4. &
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The following table shows a series of measurements made with Wenner configuration
over a layered Earth.
a 5 10 20 | 30 40 60 80 | 100 150
R [10] 07 | 06 (63| 005 | 015 |02 Q2 0.2

Which type of curve do the data represent?

Options :

KH type
1.4

KA type
2. %

AQ type
3. %

QK type
4. ®
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A magnetotelluric survey over a layered structure calculates the apparent resistivity as
1Qm. If the amphtude of the horizontal electric field is doubled. then the apparent
resistivity will be

Options:

Doubled



Increased three times

2 %
Increased four times
3.¢
Reduced to half
4. %
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Porphyry-type Cu-deposits are associated with
Options :

Mid-oceanic ridge setting.

1. %
Intra-cratonic rift setting.
2. ®
Continent-ocean subduction setting.
3.¢

Ocean-ocean subduction setting
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The difference of two refractive indices 1s called

Options :
1 % Biaxial
Uniaxial
2_ w
Birefringence
3. %
Isoaxaial
4, =
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Which rock formation 1s absolutely impermeable?

Options :



Aquifer

Aquiclude

Aquifuge

Aquitard
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Columnar joints are also called

Options :

Radial joints
1. %

Pyramid joints

Prismatic joints
3.¢



Box joints
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Fold with flattened top 1s

Options:

Square fold

1. %
Plateau fold
2. %
Box fold
3. %
Conjugate fold
4. %
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Whose 1sostasy model is used in mid-oceanic ranges?
1) Reid

2) Pratt

3) Taylor

4) Airy

Choose the correct options

Options :

1 only
1. %

2 only
2. &

Both3 & 4

None of the above
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In the table given below. identify the correct pair

Plate boundary Type Example
A | Oceanic Divergent F | San Andreas fault
B | Continental Divergent G | Himalaya
G Oceanic- Continental convergence | H | Mid Atlantic Ridge
D | Continent- Continent convergence | I | East African Rift
E Transform J | Andes
Options:

A=H: B-=L €=¥ D-G E-F

A—L B=), T D=¥ E—G

2. %
A—-H. B-G.C-F. D-1, E-1J
3. %
A-T. B-H C-1. D-G.E-F
4. %
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The rate of sediment accumulation 1s minimum at

Options :

Continent shelves



Continent slopes

3 % Continent rises

Deep-ocean floor
4. &
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El Nino southern oscillation (ENSQ) 1s an
Options :

Oceanic process

1. %
Atmospheric process
2. %
Ocean-atmospheric process
3.¢

Ocean atmosphere-land process
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Atmosphere of planet Mars 1s almost entirely made up of CO». But the surface
temperature of Mars is less than that of the Earth because

Options :

CO; does not act as greeenhouse gas in the absence of other gases

1. %
Of the absence ozone
2 %
Of the absence of voleanic activity
3 %
Mars has a larger orbit than that of the Earth
4.+
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Which one of the following minerals m the Moh’s scale of hardness 1s a silicate



Options :

Apatite
1. %

Fluonte
2. %

Topaz
3.

Corundum
4. %
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Which one of the following 1s not a plate boundary

Options :

Carlsberg Ridge

1. %

South East Indian Ridge

East Pacific Rise



Ninety East Ridge
4. &
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The highest feature on a floodplain are

Options:

Point bars

Meander scrolls

2 %®
Back swamps
3 %
Natural leevees
4, &
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Higher rate of silicate weathering leads to
Options :

Increase in CO3 in atmosphere

1. %
Decrease in CO> 1 atmosphere
2. %
Increase in O; in atmosphere
3. %
Decrease in moisture content in atmosphere
4, %
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Which one of the following 1n NOT a common set of secondary minerals formed by
weathering?

Options :

Hematite. Goethite. Gibbisite

Goethite. Gibbisite. Gypsum
2. %



Gibbisite, Hematite, Kaolinite

Kaolinite, Geothite, Gibbisite
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The degree of freedom at eutectic point of a binary system is

Options :
0
1. %
1
2.
2
3. %
3
4, %
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In the given silicate structure comprising of a chain of $104 tetrahedra, the ratio of
bridging to non-bridging oxygen atoms is

Options :

1:3
1. #*

1:5
2. %

1:2
3.

3.7
4., =
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Magmas which show low concentration of large-ion lithophile elements are
Options :

Primary magmas

1. %

Enriched magmas
2. %

Depleted magmas
3. %

Prinuitive magmas
4. %
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The gravity anomaly over a vertical rod (extending down to infinity) buried at a depth of
100m 1s 20 mGal. If the rod is buried at a depth of 50 m. the gravity anomaly would be

Options :

15 mGal
1. %

10 mGal



40 mGal

80 mGal
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Which one of the following statements about Normalized Difference Vegetation Index
(NDVT) 1s incorrect?

Options :

NDVTI 1s directly related to the percent of ground cover and amount of
biomass.

Greater difference between near-infrared and red reflectance indicates less
> vegetation

NDVT values close to zero represent bare soil

Higher values of NDVI represent dense green vegetation.
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Weathering of granite leads to formation of solid residual minerals and release of some
elements as dissolved ions. The elements released are:

Options:

Siand Al

1. =
Naand K
2.
Fe and Mn
3. %
4 % S1. Al and Fe
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Presence of minerals such as pyrite and uraninite as detrital minerals in sedimentary
rocks suggests that at the time of deposition

Options:



Chemical weathering was not active

Provenance weathered at a fast rate

Atmosphere had about 1% CO;

Atmosphere had negligible O,

4. &
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Applying lever’s rule. determine the liquid and olivine proportion at a point ‘X’ marked
on a given binary phase diagram.

!
1900 ¢
: Liquid

1700 /
wid s

1500 /

| Olivine

1540

L 3004 L
1205 !
Fa b——sb——L ; .
a0 [ a0 -
- WL% 1:Fl!Lr'.€Ilh:I ’ F I

Options :



Liquid 60 — Olivine 40

1. %

Liquid 40 — Olivine 60
2. %

Liquid 70 — Olivine 30
3. %

Liquid 30 — Olivine 70
4. %
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Detached clouds in the form of white. delicate filaments. mostly white patches or narrow
bands are called as

Options:
Cirrus
1. %
Stratus
2. %
Altostratus



Stratocumulus
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In terms of optical properties which of the following mineral 1s not from the same

group
Options :

Quartz
1. %

Apatite
2. %

Calcite
3. %

Biotite
4, &
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Watertalls and rapids along the river course indicates stage of the river.
Options :
: Youthtul
Mature
E ]
Old
3. %
Very old
4. =
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Which one of the following methods 1s best suited for locating a disseminated sulphide
deposit?

Options :
Induced polarisation method

1.4

Self potential method



Resistivity method

Equi-potential line method
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Guano 1s deposit of phosphate.

Options :

A residual

1. %

An organic
2. ¥

An evaporite
3. %
4 % A placer
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What caused the dust and condensing material to accrete into planetesimals?
Options :

Gravitational attraction and collision
1. %

Heating of gases

2.

Nugclear fusion
3. %

Rotation of the proto-Sun
4, %
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Consider the following:

(1) Palacozoic era stated about 600 Ma

(2) Reptiles evolved during carboniferous period

(3) Permian was the longest period in Palacozoic era
Which of the following statements is correct?

Codes

Options:

(1) and (2) only
1.4



(2) and (3) only

2. %

(1) and (3) only
3. %

(1). (2) and (3) only
4, %
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On the basis of cross cutting relationship. which one of the following statements is

correct?
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Options :
tolding - faulting - unconformity - intrusion
1.¢



taulting — folding — intrusion — unconformity

taulting — folding — unconformity — intrusion

tolding — faulting — mntrusion — unconformity
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The characteristic mineral assemblage of eclogite facies 1s
Options :

Lawsonite glaucophane

1. %

Chlorite epidote
2. %

Omphacite garnet
3.9

Garnet diopside
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Match the following

A) Acicular 1  Garnet
B) Bladed 2 Apatite
C) Prismatic 3  Kyanite
D) Equant 4 Galena
5  Serpentine

Options:

A3 B €% D4

1. %

A=5% B-3 C—2 D=1
2. ¥

A=3 By €27 D1
3. ®

A3 B3 C-2 D1
4. v

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Direction of gas exchange between air and sea is controlled by

Options :

1 % Wind speed

> o Concentration gradient

3 % Sea surface temperature

4 % Atmospheric turbulence
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Assertion (A): the annual insolation received at the poles is less than half of the
msolation recerved at the equator

Reason (R):  The Tilt of the Earth’s axis 1s responsible for this insolation at the poles

Choose the correct answer

Options :
A 1s correct but R 1s incorrect

1. %

5 % A 1s mcorrect but R 1s correct

Both A and R are correct and R 1s the correct explanation for A
3.¥



Both A and R are correct and R is no the correct explanation for A
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Match the types of erosion with the process

Types Process
A | Rain erosion P | Deflation
B | River erosion Q | Plucking
C | Glacial erosion R | Scouring
D | Wind erosion S | Sheet wash
Options :
A-R: B-S: C-P. D-Q
1. %
A-Q:B-P:. C-S: D-R
2. %
A-5:B-Q:C-R:D-P
3 %
A-S:B-R:C-Q: D-P
4. &
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Grains are alkali feldspar and quartz. The length of the figure 1s about 2 cm.
The diagram above most likely represents a

Options :

Extrusive igneous rock

1. &

Intrusive 1gneous rock
2. %

Clastic sedimentary rock
3.¢

Chemical sedimentary rock
4. %
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Describe the plate tectonic settings where you would expect to find andesites:

Options:

Subduction zone
1. %

Continent/continent collision

Spreading center

Transform boundary
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Which of the following voleanic chains formed at a tectonie setting similar to "A"?

This is & plate tectonic diagram

[-=-F T f.?.ll |lr'|unl.1.|
litfstisphane IMOMK

_____ e
'DW!II'IN.'.- UL"EHI'I'L
l\,_‘.'f?E.F_hf“"’ fithasprere

Options :

Aleutian Islands
1. %



Andes Mouatains

2. %

Cascade Range
3. %

Hawanan Islands
4, %
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Which of the following rock types 1s depicted in the diagram above?

o ol = olivine crystals
pl = plagioclase crystals
px

glass px = pyroxene crystals

|I| I—W scale

Options :
Basalt
1.4
Rhyolite
2. %
Gabbro



Diorite
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The discontinuity between outer core and inner core 1s known as
Options :

Mohorovicie discontinuity

1. %
Conard discontinuity

2. %

3 % Repetti discontinuity
Lehmann discontinuity

4. &
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Rocks formed at the ridge crests which are younger than 0.69 million vears are

Options:

Normally magnetized

1.¢
Reversely magnetized
2. % )
Neither normally or reversely magnetized
3. %
The information 1s mnsufficient to predict the nature of magnetization mvolved.
4, %

Question Number : 122 Question Id : 51714411691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Esker 1s a type of
Options :

Moraine deposit

Eolian deposit



Glacial deposit

Fluvial deposit
4. %
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Which of the following precious mineral pair has same composition?
Options :

Sapphire — Agate

1. %
Ruby — opal
2. %
Sapphire — ruby
3.¢
Ruby — agate
4. %
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Scintillation counter 1s used for
Options :

Seismic survey

1. %
Electrical survey
2. %
Radioactive survey
3.¥
Magnetic survey
4, %
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The rapid movement of shallow non-cohesive or loose material down a steep slope
following heavy ramfall 15 called

Options :

Creep



Debris flow

2.

Flood
3. =

Landslide
4. %
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Arrange the following voleanic events in chronological order (older to younger).
(1) Rajmahal volcanism

(11) Deccan volcanism

(111) Panjal voleanism

(1v) Malani volcanism

Options:

Iv—il—1—1

11— v — 111 —1

il —11—1—1V



1—11—11—1V
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The ratio between the number of streams of any given order to the number of streams of
the next lower order 1s known as

Options:

1. % Stream frequency

Drainage density

2.
3 Bifurcation ratio
4 % BothA)andB)
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Arrange the geological events (a to h and x— y) 1 chronological order (Older to
younger).

Options :

1« b.cadefghX-Y

2 % hgfedX-Y. ach

3 % b.e.X-¥.adefoh

4 % 3a,.X-Y.,becdefgh
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Trellis drainage pattern 1s characteristic of structure.

Options :
1 % Domal

5 % Fault



3. ¥ FGld

4. % Joint
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The degree to which a substance can be magnetized 1s determined by its
Options :

_— Magnetic induction

5 « Magnetic susceptibility

3 % Magnetic permeability

4 % Intensity of magnetization
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Assertion (A) : Limestone regions standout as elevated features in and climates and low
Iying features in humid climates,

Reason (R) : Limestone 1s susceptible to chemical weathering and resistant to
physical weathering

Options :

Both A and R are true and R 1s correct explanation

1.4

Both A and R are true but, R 1s not correct explanation
2.

A 1s true but R 1s false
3. %

A is false but R is true
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Assertion (A): Different morganic and organic structures are formed in sedimentary rocks
Reason (R): The structure “Petrifaction” 1s of inorganic origin

Options :

1 % Both A and R are true and R 1is correct explanation

Both A and R are true but. R is not correct explanation



A 1s true but R 1s false
3. %

A is false but R is true
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How many total number of pixel values will a 8-bits satellite image have?
Options :

1. % 64
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In the process of image classification which of the following methods result in a greater
accuracy of classes within an image actually matching land use patterns on the ground?

Options :

Automated

Unsupervised

Supervised

Robotic
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Where the shoreline 15 straight for many kilometers littoral drift moves the sand along
the beach resulting in the formation of:

Options :

Pocket beach

. Sandspit



Abrasion platform
3. %

Stack
4. %
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describes the ratio of lateral strain to longitudinal strain
Options :

1.« Foisson's ratio

Elastic modulus
2.

Young's modulus

Bulk modulus
]
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In an S-tectonite the strain ellipsoid will be:
Options :

Prolate finite strain

Plane strain

2. %

3 ¢ Oblate finite strain
Infinite plane strain

4, %

Question Number : 138 Question Id : 51714411707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which type of water exits as continuous film around the soil particles?

Options:

- Hydromorphie
Hygroscopic

5 & ye o

Capillary



Gravitational
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Which one of the following properties cannot be observed using a petrological

microscope?

Options:

Extinction angle

1. %
Interference colour
2. %
Lusture
3. v 7
Pleochroism
4. %
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To produce precipitation in cold clouds by
as 1ce nuclel

Options :

Silver chlornde

1.
Silver 1odide
2. %
3 % Potassium 1odide
Potassium chloride
4. %
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The average Bouger anomaly for the ocean as a whole 1s

Options :
1. Positive

> % Negative

Zero



Unpredictable
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The most violent volcanoes are referred to as

Options:

Strombolian type

1. %
Vesuvian type
2. %
Hawaiian type
3. %
Plinian type
4.
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Hydraulic gradient beneath A and B during rainy and dry seasons will

Options :

1% Not vary

Be lower during rainy season than dry season

Be higher during rainy season than dry season
3.v¥

Change only if ramnfall occurs downslope of B
4, %
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What 1s the most common anion in river water?

Options :

1. %«



HCO3
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95. Which of the following graphs correctly depicts the decay of a radioactive parent 1sotope
and the growth of its radiogenic daughter?

Options :
3|
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1. %
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3 % Time ——



Abundance
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Which of the following 1sotope ratios get significantly fractionated during evaporation of
sea water?

Options :
87, 86
1 % Sr/” Sr
16 18
5 0/70

143};[& 1-1—1}\—[:1

11(:- 13l:.
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Two minerals. A and B. which do not show solution behaviour (at atomie scales) have
melting temperatures 1200°C and 1000°C, respectively. at one atmospheric pressure. If
they are physically mixed. the temperature of melting of the mixture will be around

Options :

| % 1000°C

1200°C
2. %

Less than 1000°C

Between 1000°C and 1200°C
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Some minerals form solid solutions between different chemical components. This is
because solid solutions, relative to mechanical mixture of the components, have

Options :

Higher free energy
1. %

Lower free energy
2. %



Higher covalency of bonding

Lower covalency of bonding
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Which of the following mass extinction events in geological history 1s associated with
the conspicuous iridium anomaly?

Options :

Permian Triassic

1.

5 % Precambrian/Ordovician
Cretaceous/Tertiary
Eocene/Oligocene

4, =
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An MT survey was conducted in two areas. having a half-space resistivity of 100 Q m
and 25 Qm, respectively. In the first area. a 100 seconds period signal 1s required to
mvestigate up to 50 km depth. The signal period, in seconds, required to nvestigate
up to same depth 1n the second area 15

Options :

100

1. %

, % 30

Lk 200
400

4.+



